
TABLE 1:

DETENTION POND

INPUT: EXISTING CONDITIONS (100 -YR)

Area 0.57 acres (A,B,D)

Intensity 8.30 in/hr

Tc (Existing) 20.00 min

Runoff Coefficient 0.61 Existing Weighted Avg.

Q (Existing) 2.89 cfs

Q (Bypass) -0.53 cfs 0.9 x 9.8 x 0.06 ac (B)

Q (Release) 2.36 cfs

OUTPUT: PROPOSED CONDITIONS (100 -YR)

Area 0.51 acres (A,D)

Intensity 9.80 in/hr

Tc (Design) 10.00 min

Runoff Coefficient 0.90 Weighted "C" 

General Retail C=0.90

Q (Proposed) 4.50 cfs

Discharge Inflow Outflow Storage

 (cfs) = (cf) = (cf) = (cf) =

C*I*A        

c = 0.90

Discharge x 

Duration

0.5(TcDuration+T

cEx.)*QRelease.*6

0

Inflow-

Outflow

Interval Duration Intensity Discharge Inflow Outflow Storage

(min) (in/hr) (cfs) (cf) (cf) (cf)

1 10 9.8 4.5 2,699 1,414 1,285

2 15 9.0 4.1 3,718 1,768 1,950

3 20 8.3 3.8 4,572 2,121 2,451

4 30 6.9 3.2 5,701 2,828 2,873 X

5 40 5.8 2.7 6,389 3,535 2,854

6 50 5.0 2.3 6,885 4,242 2,643

7 60 4.5 2.1 7,436 4,949 2,487

8 70 4.1 1.9 7,904 5,656 2,248

9 80 3.9 1.8 8,592 6,363 2,229

10 90 3.6 1.7 8,923 7,070 1,853

11 100 3.4 1.6 9,364 7,777 1,586

Total Storage Required for: 0.51 acres = 2,873 cf

Assume 2.3 ft. Depth: 1249 sf = 0.03 acres

Triangular Weir Equation

Q = 2.5*h^2.5*tan(ø/2)

Q= 2.36 cfs

h= W.S.E.

h= 2.3 ft

ø= Angle of Notch

ø= 14 degrees


